o
[N

o

<o @> (rad)
o
=
[y a1

< dcotl>)
o
=
a1

002 0-0.2F il —p o
(0| E S oo N A O I
0.8 [
0.6 0.6:— ---------------- A= H  AERRREEREEEE
—1 —1 2 3
10 10 1 TPlpoT (PCA t%obeamlinélf)
—— DQNM_MKFT_TI1Dase
—e— DOQM_mkFit5_TT retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT _Dbaseline_6iter
—— DOQM_mkKFit6_TT retrainOldFiles125 v2 prelimWP_epoch4

=1 =1

g OG: ! g OCE !

L e e 1 TR S— PO A SN <11 I S

2 L : Y 60F R ) 8 [ 12 1 1 1 O O
=} L : o E :
I ) A Y A kel r .

o 60 ; ! v 40F I T
C R | B 20F- : ) R
e a1 911111 S R S 1 0

: SRR WL -20F R VA LA i
Rt e 11 +l+ ------------ : 0t i
S 1y Ll o i
=20 s TR T Y R R R
—40F e O L L O O mBOE et
Ll L codl 1 i | L TR | L mnil L

9 i e R REE TP fs Tttt .9_100_...........: ...... I

5 T : Il g I I :

o [ 4 + [ o [
05feeeeeeerienns ] V! PR SO 0 1 W 1 PP

—1 2 3 -1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f) 10 ! TPlp?T (PCA tjbobeamliné'f)

<opyp, > ()

-------- R R

. ¥

Jbal bk
b
< ¥
F-1F-{1--p--- -

r .

. | b & O Y PO GO

+ LI r

+

< |
LT

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


